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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)

(ii2)

(iv)

(v)

(vi)

(vii)

This question paper comprises 39 questions. All questions are
compulsory.

This question paper is divided into five sections — A, B, C, D and E.
Section A — Questions No. 1 to 20 are multiple choice questions.
Each question carries 1 mark.

Section B — Questions No. 21 to 26 are very short answer type
questions. Each question carries 2 marks. Answer to these questions
should be in the range of 30 to 50 words.

Section C - Questions No. 27 to 33 are short answer type
questions. Each question carries 3 marks. Answer to these questions
should in the range of 50 to 80 words.

Section D — Questions No. 34 to 36 are long answer type questions.
Each question carries 5§ marks. Answer to these questions should be
in the range of 80 to 120 words.

Section E — Questions No. 37 to 39 are of 3 source-based /case-
based units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been

provided in some sections. Only one of the alternatives has to be

attempted in such questions.

SECTION A

This section has 20 multiple choice questions (Q.No. 1 — 20). All
questions are compulsory. 20X 1=20

1.

After burning a magnesium ribbon a student collected the ash
so formed in a watch glass. He then dissolved this ash in water
and tested the nature (acidic or basic) of the solution using pH
paper and litmus solution. His correct observation would be :

(a) Its pHis 10 and it turns blue litmus to red.
(b) Its pHis 4 and it turns blue litmus to red.
(c) ItspHis 4 and it turns red litmus to blue.
(d) Its pHis 10 and it turns red litmus to blue.

31(B) Page 3 of 27 P.T.0.
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4NHg + 509 —— 4NO + 6H50

g 3Tfulshan el <t Tl fobd o1 Stfufsharal o1 Uk 3qTET B ?
(a) Toreermas srfirfshan ofi Teiem srfvfshan

(b) fefaeamm sifufsran ok tSfam stfufsrn

(c) Torearmam srfirishan A wars sfwfshan

(d) @S fufshan R fgforeermaa stffshan

3. fmafafea #@ @ aft wem giu .
(a) COy T fham &1 3cuTe 8 Jafeh CO YhIN-GTATI Sl 3cTE
2 |

(b) COy Yo Tsha =1 3cuTg 8 Safeh Cly FAR-8TR JfshaT 1 3cUTE
g |

() COy THRI-GIATU hl IAE B Solfeh Hy FA-8TR TishaT b
3 28 |

(d) COy YUl T&H I 3G & Sefeh CO YTEH TohaT 1 3¢1G 7 |

4, e qrEaett, S CuSO, 1 e oo W 8, o fHeaw o1 foh
S % PP dHT U¥ETd, " 20 e, iz B I Y HIM b
CuSO,, fae=m

(a) B & TR N ek W HE gut qord Fafud g g |
(b) T & T 7 3R ook W HIE gEx qered fafua g mn R |
(c) e & Tear 8 SR feeh § wIg it 2l g7 ? |

(@) TEN g T R 3R s W g R e e g mn R
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Consider the following reaction :

4NH3 + 502 —> 4NO + 6H20

This reaction is an example of which one of the following two
reactions ?

(a) Displacement reaction as well as redox reaction

(b) Double displacement reaction as well as redox reaction

(c) Displacement reaction as well as combination reaction

(d) Combination reaction as well as double displacement
reaction

Select the correct statement from the following :

(a) COg is a product of respiration whereas CO is a product
of photosynthesis.

(b) COg is a product of respiration whereas Cly is a product
of chlor-alkali process.

(c) COg is a product of photosynthesis whereas Hy is a
product of chlor-alkali process.

(d) COg is a product of incomplete combustion whereas CO is
a product of respiration.

On placing a silver coin in a test tube containing blue
solution of CuSQO4, a student would observe after some time,
say 20 minutes, that the CuSO,4 solution

(a) turns green and a grey substance is deposited on the
coin.

(b) turns colourless and a grey substance is deposited on the
coin.

(c) remains blue with no change in the silver coin.

(d) turns colourless and reddish brown substance is
deposited on the coin.

Page 5 of 27 P.T.0.
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TRt <fieh X’ 1 IUFM A, AEH, 3R HI= AR H gl g AR
U IR 9% & SHR1 ST Thal & | X B

(a) T (anhydrous) Hifeam HEHE (NagCOs)
(b) WfSIH HEHe SHERSE (NagCO3 . 10H50)
(c) WfsIm g HEe (NaHCO3)

(d) w=fsay gethe BERee (NagSO, . %HZO)

fafafiga o & 38 oau 1 g e e faeee &1 pH 9@ (7)
Y A BIAT B |

(a) Gifead FANZS

(b) TR Hethe

(c) WNfSIT HEM

(@) T FIRES

g HIH-HT BISSIHIEA & S SIHH et ol T 3T (F2T) <al § 2
(@) CoHg b) CsHg

() C7Hyg (d) CgHig

$g ot i ATfad i ITAT 9T 3

(a) foamem (b) g™

(c) TRM (d) JHERM

ATFHIS o 9T H HHal & Haehl H YRS, Afddeh 3T+ H Hal
qitafid B & ?

(a)  SHISFEhTEEA (b) Tiesht

(c) USRI~ (d) ENacas

S I[g TS HL o UIY T ThLT g 4 T < T & HUAT A1l 3
@ Fy 3R Fo T & UTed #eX o el § oird 7ol shl Jfasradn spust:
Bl 2

(a) 100%; 25% (b) 100%; 50%

(c) 100%; 75% (d) 100%; 100%
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5. A compound X is used in the paper, soap and glass industries.
It can be prepared from common salt. X’ is :

(a) anhydrous sodium carbonate (NayCOg)
(b) sodium carbonate decahydrate (NaysCO3 . 10H50)

(c) sodium hydrogen carbonate (NaHCOs3)

(d) sodium sulphate hemihydrate (NagSOy . %HZO)

6. Select from the following, a salt whose aqueous solution will
have pH less than seven.

(a) Sodium chloride

(b) Potassium sulphate
(c) Sodium carbonate
(d) Ammonium chloride

7.  The hydrocarbon which will decolourize bromine water is :

(a) C2H6 (b) CgHS
(¢)  CqHyq (d) CgHig
8. The organ that secretes insulin is :
(a) gall bladder (b) small intestine
(c) pancreas (d) stomach

9. During deficiency of oxygen in the tissues of human beings,
pyruvate is converted into lactic acid in :

(a) cytoplasm (b) golgi body
(c) mitochondria (d) chloroplast

10. When a pure tall pea plant is crossed with a pure dwarf pea
plant, the percentage of tall pea plant in F{ and F5 generation
pea plants respectively will be :

(a) 100%; 25% (b) 100%; 50%
(¢) 100%; 75% (d) 100%; 100%
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(a) Wﬁw (b) THETSH
(c) WS d 9=

\lé St g WFT § fa@fuea 8 Sar g 3R 31 T |ET Ul
St H foepfd 81 STaT 8, a1 39 %ed @ ¢
(a) Ypoid
(b)  GTEQHET (IASi)
(c) oI JaeH

(d) ST FEEE

forega fcieehat &1 SI AT 3

(a) W Wi (b) T Ufa ez

(c) 3T /wrer? (d) 31/

3TYeh UTH g el Jialege ar 3 58 W A1t faggauidt warfees i
Td I¢ 7 | 30 § Formeh! gfg v W 38 ar & ufaty | S geft 2
(a) ToggaUdt wenfees 6 9a i A1eE

(b) dIX okl A9

(c) R <hl TIFaTS

(d) dR bl AH

frelt soierel 5 @ foom ® waifua foRem T g, 1 HIS UHEHM
ki & aferor fean it oI fadifia s 2@ ® | 56 b &9
fesm g 2

(a) IRgeEh (b) el

(c) ST hl AR (d) ufgem i 3R
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11. The voluntary actions such as reading and writing are

controlled by :
(a) cerebellum (b) cerebrum
(c) medulla (d) pons

12. When an organism breaks into a number of parts and each
part develops into a complete organism, it is known as :

(a) budding
(b) regeneration
(c) vegetative propagation

(d) spore formation

13. SI unit of electrical resitivity is :
(a) ohm metre (b) ohm per metre

(¢) ohm /metre2 (d) ohm/metre3

14. You have a thin resistance wire having a thick plastic
insulation. A decrease in the resistance of this wire would be
produced if somehow we increase the :

(a) thickness of the plastic insulation
(b) temperature of the wire
(c) length of the wire
(d) diameter of the wire
15. An electron projected towards east is deflected towards

south by a uniform magnetic field. The direction of the
magnetic field is :

(a) upwards (b) downwards

(¢) towards north (d) towards west

31(B) Page 9 of 27 P.T.0.
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16. Toreh B & UMH <his oIF el HYT HIEI did 1 dX & | Ifc 98 39 dR @

g YATTEd hidl & dl SH hls Fraehid & JTed BIaT § foT&eht 9 gHT
1

(a) dR ¥ 3I9a 31y W |

(b) TR % AN AR Hehrgl IA1 o &I H |

(¢) AR o THTR Hieft {@redi o €9 7 |

(d) R % Treaq el @reli & § b |

9T G&IT 17 @20 & 70, 3t &7 30 70 § — 574 vek &1 sif¥ema7 (A)
7T TR T FIOT (R) FIRT ik a1 727 § | 37 971 & @g 3% 714 130
T FiIgl (a), (b), (c) 3R (d) § T g7&v e |
(a) 3AHHA (A) 3R HR (R) GHI F&l @ 3N HR (R), AHhA
(A) <l T T HT B |

(b) AfYH (A) IR HRU (R) Al T &, T R (R),
JAYHT (A) hl TE AT FgT il 7 |

(c) AR (A) H&! 7, W R (R) Tad 7 |
(d) AfTFH (A) Tad 8, T HRU (R) T 7 |

17. 3997 (A): g (IMAA) i e & a9 foredt u T iR Fothe
T =1 YyugRo 94 7 |

R (R) : I i § 3tferen srfirfshamsfiet g 2 |

18. o7 (A): uEl § forT TURE i U Sel BT R |

HR (R) : aft o=, AR 98 WSk &l Y] AS(hRAN, Y4 U
T XU I d & |
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16. A student has a long straight thick copper wire. If he passes a
current in this wire he would get a magnetic field whose
pattern must be :

(a) radial lines originating from the wire.
(b) concentric circles centred around the wire.
(c) straight lines parallel to the wire.

(d) straight lines perpendicular to the wire.

For Questions number 17 to 20, two statements are given — one
labelled as Assertion (A) and the other labelled as Reason (R).
Select the correct answer to these questions from the codes (a),
(b), (¢c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason
(R) is the correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason
(R) is not the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

17. Assertion (A): It is possible to store copper sulphate solution
in a container made of iron sheet.

Reason (R) : Iron is a more reactive metal than copper.

18. Assertion (A): Human beings have one pair of sex
chromosomes.

Reason (R) : All children, whether boys or girls, inherit an
X-chromosome from their father.

31(B) Page 11 of 27 P.T.0.
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19. S7YHIT(A): T Sal hl 3o o4 6l e LA SHiai hl v
A hl @ G Hrhl 37fe Bt 7 |

HRU (R) : qTt | Het SATaEe i W1 A H TS hi HIAT
! g | bl A BT B |

20. 3BT (A): ThA & had T HAERT I El STAATHAT
A B, TomEEeT & AW U 98 AT T8l
A 3 |
HRI (R) : T Td THY B AN eI & IUF B 3 |

Qs @

21. (%) wgfcrd TEES TR F1 BT § ? 80 THReh THI
T F1 Hd 8 2

HAYAT

(@) T o Zhg Wl SAIH U HIW Hethe TG T T Hihl T U
SITAT B ? B areft SAfufshan w1 tamEfe getetr fafaw |

22, SffeH % L& o foTq 3TTeweh 9R S9-SshHT shl I TR |

23. (%) TFAl § AT 1 g8 fohd TR Biar 2 2
Jroran

(@) ATARH F1 8 ? IS oh qr=d | $8eh! YT 1 3g@ i |

24, 39 UlskAT 1 W fARaw ek gR1 AFEl § T3 o I g hl A
Rt gl 8 | 9% ufshan el TR fohd TohR ¥ 9= BIel 2 2
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19. Assertion (A): The rate of breathing in aquatic organisms is
much faster than that seen in terrestrial
organisms.

Reason (R):  The amount of oxygen dissolved in water is
fairly low as compared to the amount of oxygen
in air.

20. Assertion (A): Magnetic fields interact with moving charges

and not with charges at rest.

Reason (R) : Charges produce magnetic field only when
they move.

SECTION B

21. (a) What is a balanced chemical equation ? Why do we
balance chemical equations ? 2

OR

(b) Why does the colour of iron sulphate solution fade when
a piece of zinc is dipped in it ? Give chemical equation for

the reaction involved. 2

22. List four life-processes that are essential for maintaining life. 2

23. (a) How is oxygen transported in human beings ? 2
OR

(b) What is saliva ? State its role in the digestion of food. 2

24. Name the process by which the amount of urine produced in
human beings is regulated. Where and how is this process
carried out ? 2

31(B) Page 13 of 27 P.T.0.
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25. (%) () "W WHE 44 % (I) G&E S 1 3Tedad gll, qo
(ID R forg & w1 arc9d 8 2

(ii) IS BT &M & HH hHl GG T TAeh dE hl WE Q@
T | e 7 | 98 B fohd gfE gy ¥ fifed g qen 3§
A9 I H TohE TR o HING W=Hl Bl SUANT HEAT
i ?

rra
(@) °Ma 7 o e U 7T g 9m & @ S e
(1) TI=ausSa (i)
(i) aRaTiERT (Iris)
(i) gfEdea (fem)
(iv) vemeft afsmi

26. frAfafiga Sfal sl @fFfid id gU STMER @ sH15Y
TS, Heh, 94, g

50 O fopm gTivent Al S digeneil 6l Tgar T 31fYes grfl ?
39 qitaedT o1 A fafey |

@uE T
27. I3 BT F9Y9 Tl H B Gothe o Tsheedl bl T H &1 2 |
(%) 3G T UREd 1 3@ hifve fS&enr duarfad Jeqor o8 T

<1 Tfsham | L Hohdl 7 |
(@) ™ I W 3I9d Gl o1 9m fafeay |
(M) B arelt arfufsren w1 v T fafan |
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25. (a) (1) What is the (I) least distance of distinct vision, and
(II) far point of a normal human eye ?

(i1) A student is unable to see distinctly a chart hanging
on the wall of his classroom. Name the defect of
vision he is suffering from and the type of corrective
lens he must use in his spectacles. 2

OR
(b) Write the main function of each of the following in the

human eye :

(i) Cornea

(i1) Iris

(i1i) Retina

(iv) Ciliary muscles 2
26. Construct a food chain comprising the following organisms :

Hawk, Frogs, Snakes, Plants

Which of these will have the highest concentration of the
harmful chemicals such as pesticides ? Name the phenomenon. 2

SECTION C

27. A student is heating ferrous sulphate crystals in a boiling tube.

(a) State the change in colour he is likely to observe during
the process of heating.

(b) Name the gases produced during heating.
(c) Write chemical equation for the reaction. 3

31(B) Page 15 of 27 P.T.0.
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(i) Tt = gfdera (wefae) =1 am foiRgu | sg@ it
fop o8 fope @ TR H 399 ¥ URd Yga H HgRdl
AT |

(ii) s BH TR A oIF Tohell TG 3TFA I qd FHMI
TEAT 2 | 39 I o foIg 39 U § 3 Sl H STl
ARY; 310 | g Bl 1 8] ST =1au 2

HAYAT

forell B 3 fopelt wEaeht 0, fSoH a9 gEeaaiie o v 7,
e % $9 ghs S | fufspan § frepefl 9 =1 364 a1 oA
T o I T JaTled U |

() Terad arefl 19 w1 9 fdfge |

(i) = % 9 H gT 38 qREa il foriae e g 98
HAT |

(iii) afe o2 39 Mg & arfeer 1 =4 % I @ vafEa e, o
AT IO BT ?

ST (i) R (iii) H 319 I o T Hror S |

TecaTgddA ohl TR fIRay | Teish 1 Th-Ush 38U od §U
gTcHeh TecaTIad 3T FRUMcH TEcaTgad i AT i |

AYAT

39 9T B o1 9 fIRau S uted o 99 Sl TRl hl 3TN
e U T BT 8 | 381 i foifau | 39 ufteresr 1 9 o
fafeg |
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(a)

(b)

(a)

(b)

B

(i) Name one antacid. State how it helps to relieve

indigestion in the stomach.

(i1) A student wants to dilute a strong acid such as
sulphuric acid. For this purpose, why should the

acid be added to water and not water to the acid ?

OR

A student dropped a few pieces of white marble in dilute
hydrochloric acid contained in a test tube. The gas
evolved was then passed through freshly prepared lime

water.
(i) Name the gas evolved.

(ii) State the change the student would observe in lime

water.

(iii)) What change would be observed if excess of this gas

is passed through lime water ?

Give reason for your answer in (ii) and (iii) given above.

Define geotropism and explain the term positive
geotropism and negative geotropism giving one example

for each.

OR
Name the plant hormone that helps in the bending of the

plant stem towards light. Explain its function. Also name

this phenomenon.
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hIs DT Tortt Taded U o TTHA UUT o Hishd 3T Ishdl heg b i
foua forelt fome =1 odur g wfafars s991 <oia & fom fomeor e
EieHT =T8T 7 |

()

g fafgu for 3o fau 3@ wH-B-A forat sTufaa femton <A
JATITIhT BT |

T 3T9fda ferton 1 9y fefigu |
quafdd feeton =1 9o fefgu |
TE e g TRuTel % SFATER e w5 fg i |

I3 HHS ohl SATell 37 IS UGl Toh-geil ¥ 1 HiX 1 gl W
foorg 2 | o9 forelt <@ <l 39 a1 o Stk HeY § W1 9T @ 4l
9¢ T SaTal T T8 gfifers fo@rs ar @ |

(i) <9 % YR 1 W fdfgue |

(i) 39 YR H & hl BikE g fpE TR Maiia <l Sl
2 ? 3Uhl BRI 1 Ig@ ity I 3GhT AF Haiid
HIT |

(iii) 39 <" <l &war fafay |
HAAAT
(i) fruE sedaTes i aftwm fafag |
(i) T i e 3 Fde st s S o S # 1 af
e H TehT <hl =T 2 x 108 m/s B, a1 I hIFT :

(1) frata 9 gerrer 1 91
(II) 9T § Yeh1sT <l T
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30.

31.

31(B)

EE
=

A student wants to draw a ray diagram to show the formation
of image due to a concave mirror when an object is placed in

between its focus and centre of curvature.

(a) Write the minimum number of incident rays required.

(b) State the paths of the incident rays.

(c) State the paths of the reflected rays.

(d) Write the sign of magnification according to the New

Cartesian Sign Convention. 3

(a) A candle flame and a screen are placed 1 m apart. When
a lens is placed exactly in the middle of the two, a
distinct image of the candle flame is observed on the

screen.
(i) Name the type of the lens used.

(ii)) How is focal length of the lens determined in this
case ? State the method and determine its value.

(i11) Write the power of the lens used. 3
OR

(b) (1) Define absolute refractive index.

(i1) The absolute refractive indices of water and glass

are % and % respectively. If the speed of light in

glass is 2 x 108 m/s, find :
(I)  Speed of light in vacuum
(II) Speed of light in water 3
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32.

33.

34.

35.

31(B)

EE

B

gRefeTeRT foptl shad & ? fordlt araTal IRATICTohT i TddTgee Teeh™
T 98 Tohel TR SIAER hUdl B 3 F1 ? 38R Tk 3AM faRan |

qTites st IRaTYT fifgu | 39k 1 Y@ Tl i gl ST | g

JTehfdeh ATATEl SAT Sl hl HEIE T8l hd g SIASeRIel ohl
frafia wT i sTeaear gt 2 | il 2

()

WUE 9
H= few U Afirent w1 W fafgu .
(i) CH3— CHy,COOH

(i) CgHg

FHEd AfERI H TEAET S TR hEd & ? Uekhlgra @i
AT v bl =T ki |

FIT BT & I WA fopd) 3t <h1 ufedfa o waHigs e 9
Srffshan sar & 2 1ffsham =1 98 3T ITeh1 TR THieRtu
fafem |

(i) iR gaeq i i fafae | soe oAl @1 @t B
el s |

(ii) dqTfeTeT o ®9 T Ycdeh hl Teh-Ush 32TEL0T ool fggued 3R
IgEUSA % o4 a1 =R faRan |

T
(i) HEd HIET 9 G o A= feU T ST o hr bl &9 A
3gQ I :
(D USRI
ID) HaAfeEE ==
III) T

(i) Rq@Te (ThgH) f6H Hed 8 ? I8 F1 8dl & ?
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32.

33.

34.

35.

31(B)

EE
=

What is a solenoid ? How does a current carrying solenoid
behave when suspended freely and why ? Give its one main
use. 3

Define the term ecosystem. List its two main components.
We do not clean natural ponds or lakes, but an aquarium
needs to be cleaned regularly. Why ? 3

SECTION D
(a) Write the names of the following compounds :
(i) CH3— CHy,COOH
(i1)) CgHg

(b) What is a homologous series of carbon compounds ?
Construct a homologous series of alcohols.

(c) What happens when ethanol reacts with ethanoic acid in
the presence of an acid ? Name the reaction and write its
chemical equation. 5

(a) (1) Define vegetative propagation. List its any two
advantages.

(11) Write in tabular form two differences between

binary fission and multiple fission giving one
example for each. 5

OR

(b) (1) State in brief the functions of the following organs in
the human female reproductive system :
(I)  Ovary
(II) Fallopian tube
(IIT) Uterus

(i1) What is menstruation ? Why does it occur ? 5
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ST ITIANT hich I bl A 0 fafay |

(@) forel ufiges, fEe wfatg 8 Q 7, ® ¥id dHvs 200 A
SR So1 399 Bl 8 | T hIFT
() SfaUus & Yafad &m, 3R
(i) ShRigs o BB & sg favyarm

e &

J97 37 @ 89 Gid-3TEIRA/JHOT-ITERT I97 & 75 3 39977 & | 370 &
T YT H 377k =TI JGT7 19397 T 8 |

37. 9= (ToRISH) T YehR hi AR 7 T HI5 That A gt
Tl AT 3Meeh TS AR hl FHTAT & | STTEA STUTHATS I ATH=IG:
I Fehri # afieha foRa AT &, S SATTRAT o6 foTu STrawash Il o
TR T R a8 | I T TR S faiem, Jentfares fomiieH, 31t
forera-staeret foeem 2 |
(%) foaem stfufsranati st o) stfirfshand == wad 8 2
(@) SehIfTeh foiis 1 Tsh 3eTetoT T |
() T & faR@-oe=eT g (1) e 3T (i) THie W Ik & arell

T4t 1 9m e | fogq-31aeed & 90 Oh 8 dielt g1sge
3R RIS T HITR 3TUTA (FEGISH : ATaefod) fofau |

HAYAT

() R BT B e TRt Faed Tl § g 18 o WSSt i T fohan
et 7 ? Afufshan 1 tamafe gt fafay |
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36.

Q.No.

37.

31(B)

(a)

(b)

EE
=

Derive an expression for the amount of heat produced
when a current flows through a resistor for a given time.
Use this expression to state Joule’s law of heating.

200 joules of heat energy is produced each second in a
resistor of 8 Q. Find :

(i) The current flowing through the resistor, and

(i1) The potential difference across the ends of the
resistor.

SECTION E

37 to 39 are source-based/case-based questions with
3 sub-parts. Internal choice is provided in one of these sub-parts.

Decomposition is a type of reaction in which a single compound
splits into two or more simple compounds. Decomposition

reactions are generally classified into three types, depending
upon the type of energy required for the reaction. The three
types are thermal decomposition, photolytic decomposition and

electrolytic decomposition.

(a)

(b)
(c)

(c)

Why are decomposition reactions known as endothermic
reactions ?

Give an example of photolytic decomposition.

Name the gas liberated at the (i) cathode, and (ii) anode
when water is electrolysed. Write the molar ratio of
hydrogen and oxygen (Hydrogen : Oxygen) liberated
during electrolysis.

OR

What happens when lead nitrate powder is heated in a
boiling tube ? Write chemical equation for the reaction.

2
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FH THTEfR FerTersh 319] & Tehl 37ed AN § SfTevashal gl
3R S €Y g R h g | wifed 8 Sd g | S gEEl Sl |rEu
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() U I IS HIH YaHeRl & [EH AMGIH & T H iy
T " o IqA 8 T IWN [ohl T 2 | “f % 9ol § fore
HfVgeash | gl forat g1 =feg 2

31(B) Page 24 of 27



38.

39.

31(B)

EE
=

Hormones are chemical informational molecules that are
required in minute amounts and are directly poured into the
blood stream. The animal hormones are secreted in the desired
amounts by the endocrine glands. Each hormone is responsible
for carrying out specific actions in the body. The deficiency or
excess of hormones has a harmful effect on our body. Hence,
the timing and the amount of hormones secreted by glands are
controlled by the feedback mechanism.

(a) Name the hormones secreted by ovary and testes.
(b) Write the function of adrenaline.

(c) Write the name and function of a hormone secreted by
(i) Pituitary gland and (ii) Thyroid gland.

OR

(c) What is the meaning of feedback mechanism ?

A simple magnifier or microscope is a convex lens of small focal
length. In order to use such a lens as a microscope, the lens is
held near the object to get an erect, magnified and virtual
image of the object. However, this microscope has a maximum
limiting magnification. For much larger magnification we use
a compound microscope in which two convex lenses are used,
one compounding the effect of the other. The lens nearest the
object, called the objective, forms a real, inverted and
magnified image of the object. This image serves as the object
for the second lens, the eyepiece which functions essentially
like a simple microscope or magnifier and produces the final
image.

(a)  You have a compound microscope in which a convex lens
of focal length ‘f” is used as objective. What should be the
distance of the object from the objective in terms of f” ?

1
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(@) dg® gereeit § I 3w Sfdfers @ gl oI <l 1 SR |

()

g fore fopelt 39 oW & oF I wieed g | @ T gl W
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gt TEEE | Y g 3c9d IEYA 1 HHE T3 HidiE g qiardt
& g e |
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31(B)

(b)

(c)

(c)

EE
=

List two properties of the final image obtained from a
compound microscope.

An object is placed in front of a convex lens at a distance
of two times the focal length of the lens. List two
properties of the image formed and write the value of
magnification produced by the lens using the New
Cartesian Sign Convention.

OR

An object is placed in front of a convex lens at a distance
more than two times the focal length of the lens.
List two properties of the image formed and write the
value of magnification produced by the lens using the
New Cartesian Sign Convention.
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